= R R A 11X K& FF 2X K4 FF X K% FF
'y F-L% 4X K% FF R KR FHE R KR FF

1 19 |ELEE Fi =K 1Rk ODE 1l EE 1
Rk B#H =2 FEE R ThE 3

2 33 |EEK— RNIIE E 1[#k BAF IPNGEENES 1
AT ¥1E 2

3 38 (AX#ER EH EuY EF =2E 1T B 2
HiZE i 2

4 48 |EEFE 5 Pkitt 11RE B 1EK BE 1
BAR _FK HENT S 1

5 54 |ERKBEFE =iE EFH 2| R +E #E 1/hNg & 2
=2 7F 3

6 59 |#REZEE Ml & 2|EFH MF 2|1ZAXR EhF 1
EF EBRF 2lEH#H EH 2| El/ &Y 1

7 60 |&RFE SEESA 1K t2 1| X HHY 1
Mg IEF 1P# Fi8 2

8 65 |[E2RAFKILA (XD BE 2| mE 2l/DNE FEF 1
Zr B8 1

9 65 |EEfRAFEILB [JE UMD AL T I EI S 2
ZF Bx 3

10 70 [AXZ=A B 2Q1ERI &F 2| KJE _BiE 2
Xz £ti# 2VNE B 1/ 1

11 70 |[BX=B BE poH NGEIIEES 2| K2 B8 2
i HE 2|l 8= /K18 ER 1

12 711 |BRESE =i B HEZE S RIS 1
ATIESOY) 2

13 73 | #HZLFRr Wi R NG 1[4 FER 1
g0 1|&E &% 1[FFH ¥E 1

14 75 (R RAS EE thea+ 11=8 &= 3|2 BE 2
H ¥t 2

15 01 [BBEEA ki HE MR 2|85k BATE 1
BH BER 12l I 1R WDx 1

16 01 |ZPHEB B & 1| ZHF 2|8 b 1
EH Z=AXE 1[I ¥ 2iEE HE 1

17 02 |EBEEEFL ERK = 2|57 H50VA NETEEXY 2
O #hm Q1BF BE 1WA F XH 1

18 10 | KAK BEiE %A 1|/A IME 1| EALF 1
B Bx ENSEES /N2 a3 2

19 14 [IcU XiE ¥ e »HE 1|he 25 1
HNH 48 2|hiE =M 1

20 20 |&ERETH HE &EHD 2|ER BiEy 2|11FEE A 1
=F EX 20118 =Y 2

21 25 |EJIZEE WA Bhfg ES IR, 2R IETE 2
KE Fx {8 UMY 1

22 26 [BK= ZE 2R 2|0 H #F 0 EXA&E 1
A & 1|F% Bk 2

23 40 |BBEERE WK BHE 2|8k /|NET 18R BE 1
Bf# _H 1

24 42 |#EEA HiE T AN 2|+ B 2
W #FiKRE 2|1HiEH 1t /MW BT 2

25 42 |ZRHEB TH CDH; 1|fgtE #x 1l/h#x 52 1
L35 Fh 2Z¥ BHE 1 FE BT 3

26 50 [BHE AR S5 NET: WL S 1|hf = 1
g8 B5 1Al A8 1|8 %=H 1

27 64 |HBEFE (R 2|15 KE 2|gTH EfE 1
MHE EKK 1ER &% ki ES 1

28 01 |&B:L)IIERE EETS 11JEA IR HE=EE S 1
=EH FHiF 1WWE %16 2|k 2 1

29 03 |(&RILJIIA EEF %“% 2|k ZFiE 2\HEh 4R 2
1tH ¥ 217 DEHL 1[fa@ &FxE 1




ERETHEEZ T 11X K& FF 2X K4 FF X K% FF
'Yy F-L% 4X K% FF MR KA FF MR KA FF
30 03 |#RL)IIB INDI EF 1REKR k= 2|A = 2
TH #HE e BRE 2|iMHF XK 2
31 22 |)\EF AIH #E RIGEETS RIMEAEES 3
I #kTE 3|GR FEH 3|BAR & 3
32 23 [\EFEK AH B 2|FE A 1[EAR 5 1
s B 2|[ExT <BHH 1
33 30 |58 Hoh %7 1[RE B 2| =88 & 2
aH ¥ETF 1B FTE 2|BiE 5% 1
34 35 |#RE KO xh Bir= A= 3 2|FA Lo 2
N A 1[faR F4&E Ve BE 3
35 42 |EBEAFN IR (X(FH 2|5 37 EE 1
Bl DEE 1/FE BE 2|5 = 2
36 47 |RBKEHE Al HkF 2|k tiE 2|t 2P #% 1
RE HE 2| K% EEFH 1| B HH 1
37 49 |#R LKA BA HE 20 BREF 1/ #F 1
L8 =5 2|FI BRF 3
38 49 |#LEKB 2R TX 2|HE HI MR BE 1
AR HF 1
39 52 |BEHREA EE i 2|55% BE 1A #an 1
S 1
40 52 |BX+xEB JEA B HEZ=EED HETER 1
WX Ex AR HEF 1[RIH k2 1
41 59 |THERKF L0 ERF 1/ MR AT 2|lLA DER 2
RS 2|RE HHNY 1[4 #HE 2
42 24 |BAR/\NEF =i BHAE 2|18 #hA TGS 3
KK Ei# 3




